5" LAY LENGTH —

/’ ® 6"B.C.
AT TN

A
U T
||
w
&\j
N

(=)
N=rt/
1m0

M&H VALVE CO

(=)
N/

ul
-

— - 25 | —»2@ <—9]6 —— 5"—>

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
29 TURNS TO CLOSE

(4) 5/8™11 UNC HOLES, THREADED THRU

OPERATED BY 2" AWWA OPERATING NUT / WRENCH NUT

RATED AND TESTED FOR 150psi WORKING PRESSURE

NSO NN~

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

3" - Style 4500 BFV - CL150
. CTJ
ﬁ N D ALy 736/ 3000 w/ F/A 12 MSS/ISO Connection

1021 East Water St. DWG. NO. BURIED OPERATOR - OPEN LEFT

Elmira, NY 14901

BDO3-F1-M11-000 FLANGED ENDS




N
o~

i

'
ool

@12

5" LAY LENGTH —,;

®6"B.C.

dl

N
N|—
|
1

n &
3 s 0
g | \
3 J mi
] o
= | ! 9
5]_

FLOW MAY BE IN EITHER DIRECTION

29 TURNS TO CLOSE

OPERATED BY 12" HANDWHEEL

NSO NN~

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)

(4) 5/8"™-11 UNC HOLES, THREADED THRU

RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DRAWN: CT1J

DATE: 6/30/2020

DWG. NO.

BDO3-F1-M31-000

3" - Style 4500 BFV - CL150
w/ F/A 12 MSS/ISO Connection
HANDWHEEL OPERATOR - OPEN LEFT
FLANGED ENDS




CLOSED

Y

o‘\

FLOW MAY BE IN EITHER DIRECTION

4 BOLTS ON EACH FLANGE
1/2" DIAMETER OF BOLTS

NSO AN~

OPERATED BY 10 POSITION LEVER OPERATOR
RATED AND TESTED FOR 150psi WORKING PRESSURE

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)

9

®é"B.C.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE

Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DRAWN: CT1J
DATE: 3/18/20
DWG. NO.

BDO3-F1-LOT-000

3" - Style 4500 BFV - CL150
w/ F/A 12 MSS/ISO Connection
LEVER OPERATOR - FLANGED ENDS




9.
D7e
15.
]
@ 6”
*‘ 1= |~ &" SEAL PLATE
] 11}
——— 2_ [ ——
2 . 6%" [ 5!1
o 5” E——
SHAFT INFORMATION
+.003
1877600 - |
+
5174909
@ .625+.002 *
I. FLOW MAY BE IN EITHER DIRECTION
2. VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
3. REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
4, 4 BOLTS ON EACH FLANGE
5. 1/2" DIAMETER OF BOLTS
6. RATED AND TESTED FOR 150psi WORKING PRESSURE
WRITTEN (.;ONSENT. DESIGN AND INVENTION RIGHTS RESERVED. ' ' 3" - Style 4500 B Fv - CL] 50
KENNEDY VALVE |DRAWN: C1J .
bivison of MeWane. . DATE:  3/18/20 w/ F/A 12 MSS/ISO Connection
ast ater t.
a1 it St WG O BARE STEM - FLANGED ENDS
BDO3-F1-B01-000




=l |
J .
ITEM NO. DESCRIPTION MATERIAL
/ VANE SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON, ASTM A-536
4 UPPER JOURNAL BEARING NYLATRON
5 VANE SEAT RING EPT W/ SS INSERT
é HEX HEAD CAPSCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
/ LOWER JOUNRAL BEARING NYLATRON
8 BFV BODY END PLUG STEEL
9 BFV VANE DUCTILE IRON, ASTM A-536
10 VANE SHAFT TORQUE PLUG 18-8 STAINLESS STEEL
11 BODY SEAT RING 316 STAINLESS STEEL
12 BODY O-RING BUNA-N
13 ISO FA12 SEAL (FOR BOUGHT OPER.) COMMERCIAL STEEL

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

P

C1J
3/18/20

DRAWN:

DATE:
DWG. NO.

BBO3-F1-B01-000

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

3" AWWA C504 - Style 4500 - CL150
BFV with F/A 12 MSS/ISO Connection
Sub-Assembly - Material List
FLANGED END




NSO NN~

5" LAY LENGTH —

N
o~

|

Y
ooTcn

- }1}‘

O

&H VALVE

M

A"
Y
-5

—— "

N|—
f

—— D

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANS] 125)
29 TURNS TO CLOSE

(8) 5/8" DIAMETER BOLTS (NO THREADED HOLES)

OPERATED BY 2" AWWA OPERATING NUT / WRENCH NUT

RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |DRAWN: CT1J

Division of McWane, Inc. DATE: 6/30/2020
1021 East Water St. DWG. NO.

Elmira, NY 14901
BD04-F1-M11-000

4" - Style 4500 BFV - CL150
w/ E/A 12 MSS/ISO Connection
FLANGED ENDS
BURIED Operator - OPEN LEFT




5" LAY LENGTH —

B12"
SRR
C T ) ( [
%ﬂl |f
! ) ary i
: N hi
é | _ ‘:1_ _
5 /o
=

A
2

N
=
A
|
|

!
o
f

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANS] 125)
29 TURNS TO CLOSE

(8) 5/8" DIAMETER BOLTS (NO THREADED HOLES)

OPERATED BY 12" HANDWHEEL

RATED AND TESTED FOR 150psi WORKING PRESSURE

NSO NN~

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

DATE: 4/16/2020

1021 East Water St. DWG. NO.
Elmira, NY 14901

4" - Style 4500 BFV - CL150

FLANGED ENDS

E KENNEDY VALVE  PRAWN: __CT) w/ F/A 12 MSS/ISO Connection

BDO04-F1-M31-000 Handwheel Operator - OPEN LEFT




OPEN| —

10 LOCATING
POSITIONS

CLOSED

oojw

13

=
=

(@]

o~

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DRAWN: ZF
DATE: 11/30/2018
DWG.

"> BO4FAL1100

4" ISO BFV FLANGED END
W/ FA12 MOUNTING
LEVER OPERATOR




D 4.95
B.C.

(4) ® 55"

HOLES

FLOW MAY BE IN EITHER DIRECTION

(8) @ 3/4" BOLTSBOLTS ON EACH FLANGE
RATED AND TESTED FOR 150psi WORKING PRESSURE

OXNLDN =

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)

188—~—

NP,

SHAFT/KEYWAY DIM.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

Elmira, NY 14901 bwe.

KENNEDY VALVE DRAWN: CTJ
o e ™ DATE: 4/18/2019
NO.
| BDO04-F1-BO1-000

4" AWWA C504 - STYLE 4500 - CL150
BFV W/ F/A 12 MSS/ISO Connection
FLANGED END - BARE STEM




{@
@

NI Y

MM

a7

SECTION A-A
SCALE1:3
DETAIL B
SCALE 2 :1
ITEM NO. DESCRIPTION MATERIAL
1 VANE SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFVBODY DUCTILEIRON ASTM A-536
4 UPPER JOURNAL BEARING NYLATRON
5 VANE SEAT RING EPTwith SS INSERT
6 HEX HEAD CAPSCREW 18-8 STAINLESS STEEL with NYLOC PATCH
7 LOWER JOURNAL BEARING NYLATRON
8 BFVBODYEND PLUG STEEL
9 BFV VANE DUCTILEIRON ASTM A-536
10 VANE SHAFTTORQUE PLUG 18-8 STAINLESS STEEL
11 BODY SEATRING 316 STAINLESS STEEL
12 BODY SEAT O-RING BUNA-N
WRITEN CONSENT.DESION AND NVENTION HGHTS RESERVED o FETROPUCER MITHOLT
DRAWN. TF 4" AWWA C504 - Style 4500 - CL150
KENNEDY VALVE - BFV with F/A 12 MSS/ISO Connection
Division of Mowanc, ine. . |DATE: _1/4/17 Sub-Assembly - Material List
ast Water St. DWG.

Elmira, NY 14901

Yo BO4FBB11

FLANGED END




I
'
ol

g

I

0}
M&H VALVE
©)

o

N
N|—

29 NUMBER OF TURNS TO CLOSE

OPERATED BY 2" AWWA OPERTING

NSO NN~

OPEW

5" LAY LENGTH —

)

L

[}

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)

(8) 3/4" BOLTS ON EACH FLANGE (NO THREADED HOLES)

/ WRENCH NUT

RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE

DRAWN: CT1J

Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

P

DATE: 5/4/2020

DWG. NO.

BDO6-F1-M11-000

6" - Style 4500 - CL150
BFV with F/A 12 MSS/ISO Connection
BURIED Operator - OPEN LEFT
FLANGED ENDS




@12

5" LAY LENGTH —

|l

oo|Ln

( |__|I
0 )
8 0
=
>
5 /e
ol
\
1
. N
1.

1. FLOW MAY BE IN EITHER DIRECTION
2. VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
3. REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
4, 29 NUMBER OF TURNS TO CLOSE
5 (8] 3/4"BOLTS ON EACH FLANGE (NO THREADED HOLES)
é. OPERATED BY 12" HANDWHEEL
7. RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED. 11]

6" - Style 4500 - CL150
KENNEDY VALVE ~[DRAWN: __ CTJ BFV with F/A 12 MSS/ISO Connection
Division of McWane, Inc. DATE: 7/] /2020
1021 East Water St. DWG. NO, FLANGED ENDS
BD064-F1-M31-000 HAND WHEEL Operator - OPEN LEFT




OPEN

10 LOCATING
POSITIONS

CLOSED

EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DRAWN: LF

DATE: 11/30/2018

DWG.

N> BOGFAL1100

6" 1SO BFV FLANGED END
W/ FA12 MOUNTING
LEVER OPERATOR




D 4.95
B.C.

.| 7 n
(4) D=5
HOLES

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
8 BOLTS ON EACH FLANGE

@ 7/8"BOLTS

RATED AND TESTED FOR 150psi WORKING PRESSURE

N NLN =

25
®1.00 “
_>4W\
‘\ ) 861

SHAFT/KEYWAY DIM.

-

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |DRAWN: CT1J
Division of McWane, Inc. DA TE. 4/22/20] 9
1021 East Water St. DWG. NO.

Elmira, NY 14901
BDO6-F1-BO1-000

6" AWWA C504 - STYLE 4500 - CL150
BFV W/ F/A 12 MSS/ISO Connection
FLANGED END - BARE STEM




) |

SECTION A-A
SCALET:3
DETAIL B
SCALE2:1
ITEM NO. DESCRIPTION MATERIAL
1 VANE SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFVBODY DUCTILEIRON ASTM A-536
4 UPPER JOURNAL BEARING NYLATRON
5 VANE SEATRING EPTwith SSINSERT
6 HEX HEAD CAPSCREW 18-8 STAINLESS STEEL with NYLOC PATCH
7 LOWER JOURNAL BEARING NYLATRON
8 BFVBODYEND PLUG STEEL
9 BFV VANE DUCTILEIRON ASTM A-536
i0 VANE SHAFTTORQUE PLUG 18-8 STAINLESS STEEL
11 BODYSEATRING 316 STAINLESS STEEL
12 BODY SEAT O-RING BUNA-N
WAITEN CONSENT DEAN AN INVENTION GHS RESERVED. o OR ErRoBLCE Mot
KENNEDY VALVE |DRAWN: ZF 6" AWWA C504 - Style 4500 - CL150
Division of McWane, Tnc. DATE:. 1/6/17 BFV with F/A 12 MSS/ISO Cpnngchon
1021 East Water St. DWE. Sub-Assembly - Material List
Elmira, NY 14901 NO. BOéFBB] .l FLANGED END




]

-

—

—
N

|

(=)
\

NS ONWON~

(=)
\

Mé&H VALVE CO
O
N
o~

|
%
(@]
——°

%
T

Iy
5
—

oo|—

||

6" LAY LENGTH

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
29 TURNS TO CLOSE

(8) 3/4" BOLTS ON EACH FLANGE (NO THREADED HOLES)
OPERATED BY 2" AWWA OPERATING NUT / WRENCH NUT

RATED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED. - CT 8" - style 4500 BFV - CL] 50
KENNEDY VALVE DRAWN - /zono F/A12 MSS/ISO Connection
1021 -East Water ét. ’ gxgﬁ;o FLANGED ENDS
frimira, NYC14901 BDOS-F1-M11-000 BURIED Operator - Open Left

13" bg —




'
A

NS ONWON~

. .

|
M&H VALVE CO
|
T

(@]
o~
am

7
f—— —

———————— |1 3" 6@ —

- =— 6" LAY LENGTH

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
29 TURNS TO CLOSE

(8) 3/4" BOLTS ON EACH FLANGE (NO THREADED HOLES)
OPERATED BY 12" HANDWHEEL

RATED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED. - CT 8" - Siyle 4500 BFV - CL] 50
KENNEDY VALVE DRAWN - /zono F/A12 MSS/ISO Connection
1021 -East Water ét. ’ gxgﬁ;o FLANGED ENDS
Fimirs, Ry 14501 BDOS-F1-M31-000 Handwheel Operator - Open Left




OPEN
‘\\

10 LOCATING | 90°
POSITIONS \

CLOSED

.Ill
@]37 |
3
11" 1.
4 _ ]82
8)® g’ |
p—— | ].lg"

- A

1. FLOW MAY BE IN EITHER DIRECTION

2 VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
3. REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
4. 8 BOLTS ON EACH FLANGE
5. @ 3/4"BOLTS
é. RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |DRAWN: CT1J 8" ISO BFV FLANGED END
Division of McWane, Inc. DATE: 4/24/2019 W/ FA12 MOUNTING
1021 East Water St.
Elmira, NY 14901 bwe. No. LEVER OPERATOR
BDO8-F1-L01-000




D 4.95

-
@&\ ~ B.C.

25

-
-
N

®1.125

.986

SHAFT/KEYWAY DIM.

1. FLOW MAY BE IN EITHER DIRECTION
2. VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
3. REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
4. 8 BOLTS ON EACH FLANGE
5. @ 3/4" BOLTS
é. RATED AND TESTED FOR 150psi WORKING PRESSURE
THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.
KENNEDY VALVE |PRAWN:  CTJ 8" AWWA C504 - STYLE 4500 - CL]_ 50
Division of McWane, Inc. DATE: 4/24/2019 BFV W/ F/A 12 MSS/ISO Connection
1021 East Water St.
021 East Water S DG NO FLANGED END - BARE STEM
BDO8-F1-BO1-000




D) |

/

SECTION A-A
SCALE1:3
DETAIL B
SCALE?2:1
ITEM NO. DESCRIPTION MATERIAL

1 VANE SHAFT 304 STAINLESS STEEL, ASTMIA-276

2 V-RING PACKING SET EPDM], BUNA-N

3 BFV BODY DUCTILE IRON ASTM A-536

4 UPPER JOURNAL BEARING NYLATRON

5 VANE SEAT RING EPT with SS INSERT

6 HEX HEAD CAPSCREW 18-8 STAINLESS STEEL with NYLOC PATCH

7 LOWER JOURNAL BEARING NYLATRON

8 BFV BODY END PLUG STEEL

9 BFV VANE DUCTILE IRON ASTM A-536

10 VANE SHAFT TORQUE PLUG 18-8 STAINLESS STEEL

11 BODY SEAT RING 316 STAINLESS STEEL

12 BODY SEAT O-RING BUNA-N

S ———— -y T 8" AWWA C504 - Style 4500 - CL150
Division of McWane, Inc. | DATE:  1/9/17 BFV with F/A 12 MSS$/ISO Connection
1021 East Water St. . Sub-Assembly - Material List
Elmira, NY 14901 NO. BO8FBB.| .l FLANGED END




NSO AN~

Iy

=S

M&H V.
(®)
A

— —

er

- 8" LAY LENGTH

[}
|

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
29 TURNS TO CLOSE

(12) 7/8" BOLTS ON EACH FLANGE (NO THREADED HOLES)
OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT

RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

oRAwN, CTJ 10" - Style 4500 BFV - CL150
K oiion ot Mewane:ne - |DATE: 772/2030 F/A 12 MSS/ISO Connection
e [P FLANGED ENDS
BD10-F1-M11-000 BURIED OPERATOR - OPEN LEFT




N

———————— | —————
S
[ . [ 1]
| l—’\ -
= l
| 7W”
: f
8 o
;! .,
o)l
g1 o 5
0 SW E
) | ¢

NSO AN~

[}

- 8" LAY LENGTH

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
29 TURNS TO CLOSE

(12) 7/8" BOLTS ON EACH FLANGE (NO THREADED HOLES)
OPERATED BY 12" HANDWHEEL

RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |[DRAWN:  CTJ

Division of McWane, Inc. DATE: 7/2/2020
1021 East Water St. DWG. NO.
Elmira, NY 14901

BD10-F1-M31-000

10" - Style 4500 BFV - CL150
F/A 12 MSS/ISO Connection
FLANGED ENDS
HANDWHEEL OPERATOR - OPEN LEFT




NSO NN~

-

— 9 4.95
T (4)x®

Eu
32

D16"
(12) xP 1"
P 14%"

o

7
¢

4“

- 8" ———=

~—1.19

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)

29 TURNS TO CLOSE

12 BOLTS ON EACH FLANGE
7/8" DIAMETER OF BOLTS
RATED AND TESTED FOR 150psi

WORKING PRESSURE

lu

~— 3 SEAL PLATE
i” lll_»
gll
8 1
%[ -
B J 1.289

SHAFT/KEYWAY DIM.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

P

Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

KENNEDY VALVE

DRAWN: CT1J

DATE: 5/9/2019

DWG. NO.

BD10-F1-BO1-000

10" - STYLE 4500 - CL150 BFV
w/ F/A12 MSS/ISO CONNECTION

FLANGED ENDS - BARE STEM w/SEAL PLATE




ITEM NO.
1

W 0 N O LA WN

R
~ QO

12

DESCRIPTION
VANE SHAFT

V-RING PACKING SET
BFVBODY
UPPER JOURNAL BEARING
VANE SEAT RING
HEX HEAD CAPSCREW
LOWER JOURNAL BEARING
BFVBODY END PLUG
BFV VANE
VANE SHAFTTORQUE PLUG
BODYSEATRING
BODYSEAT O-RING

DETAIL B
SCALE2:1.5

SECTION A-A
SCALET : 4

MATERIAL
304 STAINLESS STEEL, ASTMA-276

EPDM, BUNA-N
DUCTILEIRON ASTM A-536
NYLATRON
EPT with SS INSERT
18-8 STAINLESS STEEL with NYLOC PATCH
NYLATRON
STEEL
DUCTILEIRON ASTM A-536
18-8 STAINLESS STEEL
316 STAINLESS STEEL
BUNA-N

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE
Division of McWane, Inc.

1021 East Water St. DWG.
Elmira, NY 14901 NO.

DRAWN: LF

DATE: 1/9/17

B1OFBB11

10" AWWA C504 - Style 4500 - CL150
BFV with F/A 12 MSS/ISO Connection
Sub-Assembly - Material List
FLANGED END




NSO NN~

£

‘\\LG_,'

©17"B.C.

M&H VALVE CO

_[Jf

FLOW MAY BE IN EITHER DIRECTION

8" LAY LENGTH

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)

29 TURNS TO CLOSE

(12) 7/8"BOLTS ON EACH FLANGE (NO THREADED HOLES)
OPERATED BY 2" AWWA OPERATING / WRENCH NUT
RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DRAWN: CT1J

DATE:  7/2/2020

DWG. NO.

BD12-F1-M11-000

12" - Style 4500 BFV - CL150
F/A 12 MSS/ISO Connection
FLANGED ENDS
Buried Operator - OPEN LEFT




B ]2” = @ -| 9||

®17"B.C.

M

e | [ f
&7 o]
5

M&H VAL
o
O
O
‘\o——<—

N
- '

o~

|——

_[f

%
?

a|—

[}
|

8" LAY LENGTH

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
29 TURNS TO CLOSE

(12) 7/8"BOLTS ON EACH FLANGE (NO THREADED HOLES)
OPERATED BY 12" HANDWHEEL

RATED AND TESTED FOR 150psi WORKING PRESSURE

NSO NN~

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

. 12" - Style 4500 BFV - CL150
DRAWN: CTJ .
E N N e 57272020 F/A 12 MSS/ISO Connection

1021 East Water St. DG, No. FLANGED EN Ds

Elmira, NY 14901

BD12-F1-M31-000 HANDWHEEL Operator - OPEN LEFT




o19"
(12) xP 1"

T r @17"B.C.
e .
—— 0 4.95
A (4 x0 35
M
-—D j
%/
G E—
a a
~
—— 4" |
o

3”
8

b o
anw|
|/

SHAFT/KEYWAY DIM.

I FLOW MAY BE IN EITHER DIRECTION
2 VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
3. REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
4 12 BOLTS ON EACH FLANGE
5. 7/8" DIAMETER OF BOLTS
6. RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

'WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |PRAWN: cnl 12" - STYLE 4500 - CL150
Division of McWane, Inc. DATE:  5/9/2019 BFV w/ F/A12 MSS/ISO CONNECTION
Elmira, NY 14901 DWG. NO. FLANGED ENDS - BARE STEM w/ SEAL PLATE
BD12-F1-BO1-000




\

T ) o | 7 | e 1 8 e e

ITEM NO. DESCRIPTION
VANE SHAFT

V-RING PACKING SET
BFVBODY
UPPER JOURNAL BEARING
VANE SEATRING
HEX HEAD CAPSCREW
LOWER JOURNAL BEARING
BFVBODYEND PLUG
BFV VANE
VANE SHAFT TORQUE PLUG

N =
R o0xNvon uiaswN kR

BODY SEATRING
BODY SEAT O-RING

=~
N

SEAT DETAIL

MATERIAL
304 STAINLESS STEEL, ASTM A-276
EPDM, BUNA-N
DUCTILEIRON ASTM A-536
NYLATRON
EPTwith SS INSERT
18-8 STAINLESS STEEL with NYLOC PATCH
NYLATRON
STEEL
DUCTILEIRON ASTM A-536
18-8 STAINLESS STEEL
316 STAINLESS STEEL
BUNA-N

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |PRAWN: KM

Division of McWane, Inc. DATE: 10/2016

} 1021 East Water St.
Elmira, NY 14901 DWG. NO.

BFE-15-45-312-ISO

12" AWWA C504 - Style 4500 - CL150
BFV with F/A 12 MSS/ISO Connection
Sub-Assembly - Material List
FLANGED END




N
o~
[
[
L[]

O NSO NN~

—¢|]| ]

— 4" =

——— 8"

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS
48 TURNS TO CLOSE
12 BOLTS ON EACH FLANGE
1"DIA. OF BOLTS
OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
RATED AND TESTED FOR 150psi WORKING PRESSURE
WEIGHT OF VALVE IS 450 LBS.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |[PRAWN: CTJ

Division of McWanc, Inc. DATE: 11/26/2018 BFV with F/A16 MSS/ISO Connection-
Eremire, NY 14501 DG, FE x FE ENDS - Buried Operator

B14FAMII

14" - Style 4500 - CL150




48 TURNS TO CLOSE

1"DIA. OF BOLTS

NSO ANWON~

12 BOLTS ON EACH FLANGE

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS

OPERATED BY 18"HANDWHEEL
RATED AND TESTED FOR 150psi WORKING PRESSURE

- 16

SEAL PLATE
3” ill
147 129" —=

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DRAWN: CTJ

DATE: 5/24/2019

DWG. NO.

BD14-F1-M31-000

14" - Style 4500 - CL150
BFV with F/A16 MSS/ISO Connection
FLANGED ENDS
Handwheel Operator - OPEN LEFT




(PN
7

48 TURNS TO CLOSE
12 BOLTS ON EACH FLANGE
1"DIA. OF BOLTS

SO ANLDN =~

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS

@21t

(12) $ 14" HOLES

?183"B.C.

RATED AND TESTED FOR 150psi WORKING PRESSURE

# :E( 2.00
2

1.718

SHAFT/KEYWAY DIM.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DRAWN: CT1J
DATE:  5/24/2019
DWG. NO.

BD14-F1-BO1-000

14" - STYLE 4500 - CL150
BFV w/ F/A16 MSS/ISO CONNECTION
FLANGED ENDS - BARE STEM w/ SEAL PLATE




o1
SEAT DETAIL
ITEM NO. DESCRIPTION MATERIAL

] OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
5 TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
6 VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
7 HEX HEAD CAP SCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
8 BFV VANE DUCTILE IRON ASTM A-276
9 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
10 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
/1 THRUST BEARING BRONZE ALLOY
12 THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
13 BODY END PLUG O-RING BUNA-N
14 BODY END PLUG STEEL
15 BODY SEAT RING 316 STAINLESS STEEL
16 BODY SEAT O-RING BUNA-N
17 OPERATOR MOUNTING BOLTS 18-8 STAINLESS STEEL
18 ISO F/A16 SEAL PLATE COMMERCIAL STEEL

S — YT 14" AWWA C504 - STYLE 4500 - CL150

tonton of vtevmsine - \DATE: /3172018 BFV w/ F/A16 MSS/ISO CONNECTION

P

1021 East Water St.
Elmira, NY 14901

DWG.

NoO.
B14FBB11

SUB-ASSEMBLY - MATERIAL LIST
FLANGED ENDS




<—8"——

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS
48 TURNS TO CLOSE

16 BOLTS ON EACH FLANGE

1"DIA. OF BOLTS

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT

RATED AND TESTED FOR 150psi WORKING PRESSURE

WEIGHT OF VALVE IS 450 LBS.

O NSO NN~

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |[PRAWN:  CTJ 16" - Style 4500 - CL150
Division of McWanc, Inc. DATE: 11/26/2018 BFV with F/A16 MSS/ISO Connection-
Elmira, NY 14901 ng-B]éFAM” FE x FE ENDS - Buried Operator




O NSO NN~

—= 4"

<—8"——

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS

48 TURNS TO CLOSE
16 BOLTS ON EACH FLANGE
1"DIA. OF BOLTS

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
RATED AND TESTED FOR 150psi WORKING PRESSURE

WEIGHT OF VALVE IS 450 LBS.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE

DRAWN: CTJ

Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DATE: 2/8/2019

DWG. NO.

B16FAM1101

16" - Style 4500 - CL150
BFV with F/A16 MSS/ISO Connection-
FE x FE ENDS - Handwheel Operator




—ISO FATé6
SEAL PLATE

SHAFT & KEYWAY DIM.

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS
48 TURNS TO CLOSE

16 BOLTS ON EACH FLANGE (12 THRU & 4 TAPPED)

1"DIA. OF BOLTS

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
RATED AND TESTED FOR 150psi WORKING PRESSURE

NSO ANLON =

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED. ] 6' I STY L E 4500 : L ] 50

D e |DATE: 5/24/2019 FLANGED ENDS

DWG. NO.

E KENNEDY VALVE |[PRAWN: _ CTJ BFV WITH F/A16 MSS/ISO
m——— BD16-F1-B01-000 BARESTEM




‘

/: V/‘ SEAT DETAIL

7

ITEM NO. DESCRIPTION MATERIAL
/ OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
5 TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
é VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
/ HEX HEAD CAP SCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
8 BFV VANE DUCTILE IRON ASTM A-276
9 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
10 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
11 THRUST BEARING BRONZE ALLOY
12 THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
13 BODY END PLUG O-RING BUNA-N
14 BODY END PLUG STEEL
15 BODY SEAT RING 316 STAINLESS STEEL
16 BODY SEAT O-RING BUNA-N

THIS DWG. AND ALL INFORI
WRITTEN CONSEN!

IT. DESIGN AND INVENTION RIGHTS RESERVED. .

MATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

P

DRAWN: ZF
DATE: 9/19/2018

DWG.

"> B16FBBI11

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

16" AWWA C504 - STYLE 4500 - CL150
BFV w/ F/A16 MSS/ISO CONNECTION
SUB-ASSEMBLY - MATERIAL LIST
FLANGED ENDS




MWNAXNGOANLDN =

— 4" |-

- 8

FLOW MAY BE IN EITHER DIRECTION
VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS
48 TURNS TO CLOSE
16 BOLTS ON EACH FLANGE
11/8"DIA. OF BOLTS
OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
RATED AND TESTED FOR 150psi WORKING PRESSURE
WEIGHT OF VALVE IS 450 LBS.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |[PRAWN: CTJ

Division of McWanc, Inc. DATE: 11/26/2018 BFV with F/A16 MSS/ISO Connection-
Eremire, NY 14501 DG, FE x FE ENDS - Buried Operator

B18FAMI1

18" - Style 4500 - CL150




NSO ANON =~

<—8”—>

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS

48 TURNS TO CLOSE

16 BOLTS ON EACH FLANGE

11/8"DIA. OF BOLTS

OPERATED BY 18" HANDWHEEL

RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |[PRAWN: CTJ

Division of McWane, Inc. DATE: 6/5/20] 9
1021 East Water St. DWG.NO.
Elmira, NY 14901

BD18-F1-M31-000

18" - Style 4500 - CL150
BFV with F/A16 MSS/ISO Connection
FLANGED ENDS
HANDWHEEL Operator - OPEN LEFT




12x @1%"
_ _ PER FLANGE

4x 1-1/8-12 UNC
PER FLANGE

e

D -
B 083" 3. | _
P
16
3 n
<% SEAL PLATE
- B 9 .

+.003
?2.625+.003 —\jr "‘ 500000

t.ooo /
20617075

-

1

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
16 BOLTS ON EACH FLANGE

1 1/8" DIAMETER OF BOLTS

RATED FOR 150psi WORKING PRESSURE

XU ANLN =

L .282 REF

SHAFT & KEYWAY DIM.

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE |PRAWN:  CTJ
Division of McWane, Inc. DATE: ] 2/] ] /] 9
1021 East Water St.

DWG. NO.
Elmira, NY 14901

BD18-F1-BO1-000

18" AWWA C504- Style 4500 BFV -FE
Class 150
F/A16 MSS/ISO Connection
Bare Stem Operator Shaft




[z WA |
| 1]

®

~O

?

1 SEAT DETAIL

ITEM NO. DESCRIPTION MATERIAL
/ OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
5 TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
é VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
/ HEX HEAD CAP SCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
8 BFV VANE DUCTILE IRON ASTM A-276
9 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
10 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
11 THRUST BEARING BRONZE ALLOY
12 THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
13 BODY END PLUG O-RING BUNA-N
14 BODY END PLUG STEEL
15 BODY SEAT RING 316 STAINLESS STEEL
16 BODY SEAT O-RING BUNA-N

THIS DWG. AND ALL INFORI
WRITTEN CONSE!

MATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

P

CT1J
10/4/2018

DRAWN:

DATE:
DWG.

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

“ B18FBBI11

18" AWWA C504 - STYLE 4500 - CL150
BFV w/ F/AT16 MSS/ISO CONNECTION
SUB-ASSEMBLY - MATERIAL LIST
FLANGED ENDS




FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
NUMBER OF TURNS TO CLOSE: 48

OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT

(20) 1 1/8"-7 BOLTS FOR EACH FLANGE

RATED AND TESTED FOR 150psi WORKING PRESSURE

VALVE WEIGHT IS 625 LBS.

Noo N~

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

ENNEDY VALV , BFV w/ 1250 F/A16 MSS/ISO CONNECTION
frion of Mewane tnc. |DATE: 11/26/2018 SUB-ASSEMBLY - DIMESNIONS
Elmira, NY 14901 NO. BQOFAM] .l FLANGED END

E KENNEDY VALVE |PRAWN:  CTJ 20" AWWA C504 - STYLE 4500 - CL150




in

FLOW MAY BE IN EITHER DIRECTION

1.
2. VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
3. NUMBER OF TURNS TO CLOSE: 48
4. OPERATED BY 2" AWWA OPERATING NUT/WRENCH NUT
5. (20) 11/8"-7 BOLTS FOR EACH FLANGE
6.  RATED AND TESTED FOR 150psi WORKING PRESSURE
7. VALVE WEIGHT IS 625 LBS.
20" AWWA C504 - STYLE 4500 - CL150
KENNEDY VAILVE |PRAWN:  CTJ BFV w/ 1250 HANDWHEEL OPERATOR
Division of McWane, Inc. DATE: 2/8/2019 F/A16 MSS/ISO CONNECTION
E e 1aoor DWG. NO. SUB-ASSEMBLY - DIMESNIONS
B20FAM1101 FLANGED END




1,
@277
(20) 14" HOLES

" ISO F/A16
SEAL PLATE

»25"B.C.

)
1|
o
INES

.| n
— @ 67 B.C.

W D

4” ] " 7 n

- 8

| 50
$2.63 ‘ ‘

.282 REF. J
SHAFT & KEYWAY DIM.

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS
REFERENCE AWW C504 FOR FLANGES AND DRILLING (ANSI 125)
16 BOLTS ON EACH FLANGE (12 THRU & 4 TAPPED)

11/8"DIA. OF BOLTS

RATED AND TESTED FOR 150psi WORKING PRESSURE

N NN~

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

Division of McWane, Inc. DATE: 6/4/2019 BFV WITH F/A16 MSS/ISO CONNECTION
Pt iyl owe. o FLANGED ENDS
? BD20-F1-BO1-000

E KENNEDY VALVE |[PRAWN:  CTJ 20" - STYLE 4500 - CL150




TP

\\®
~G
BC
-
@
L ©
—©

'/

Y

18 (
SEAT DETAIL
ITEM NO. DESCRIPTION MATERIAL

/ OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
S5 VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
é HEX HEAD CAP SCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
/ TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
8 BFV VANE DUCTILE IRON ASTM A-536
9 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
10 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
11 THRUST BEARING BRONZE ALLOY
12 THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
13 BODY END PLUG O-RING BUNA-N
14 BODY END PLUG STEEL
15 BODY SEAT RING 316 STAINLESS STEEL
16 BODY SEAT O-RING BUNA-N
17 OPERATOR MOUNTING BOLTS 18-8 STAINLESS STEEL
18 ISO FA16 SEAL PLATE COMMERCIAL STEEL

WRITTEN CONSE!

INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCE!
NT. DESIGN AND INVENTION RIGHTS RESERVED. .

D WITHOUT

P

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DRAWN: LF

DATE: 8/31/2018

DWG.

" B20FBB11

20" AWWA C504 - STYLE 4500 - CL150
BFV w/ F/A16 MSS/ISO CONNECTION
SUB-ASSEMBLY - MATERIAL LIST
FLANGED ENDS




4"

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
72 TURNS TO CLOSE

OPERATED BY 2" AWWA OPERATING NUT / WRENCH NUT

(20) 1 1/4"-7 BOLTS ON EACH FLANGE, 4 THREADED

RATED AND TESTED FOR 150psi WORKING PRESSURE

VALVE WEIGHT IS 800 LBS.

Noohkowh—

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED. 24” AWWA C504 B STY L E 4500 _ C L .| 50

ot et Swnemesane. . |DATE: 11/26/2018 SUB-ASSEMBLY - DIMENSIONS

DWG.
MO b AEAMI T FLANGED END

Elmira, NY 14901

E KENNEDY VALVE |PRAWN:  CTJ BFV w/ F/A25 MSS/ISO CONNECTION




4%” -
C
—— 8" |
1. FLOW MAY BE IN EITHER DIRECTION
2. VALVE SHAFT WILL MEET OR EXCEED AWWA C504 REQUIREMENTS
3. 72 TURNS TO CLOSE
4. 20 BOLTS ON EACH FLANGE
5. 1'1/4"BOLTS ON EACH FLANGE
é. 4 THREADED HOLES ON EACH FLANGE, 1 1/4"-7
7. OPERATED BY 18" HANDWHEEL
8. RATED AND TESTED FOR 150psi WORKING PRESSURE
WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED. DRAWN. CTJ 24” AWWA C504 B STYLE 4500 B CL.l 50
KENNEDY VALVE " BFV w/ F/A25 MSS/ISO CONNECTION
(ot Bant water St oy 24 14/2019 HANDWHEEL OPERATOR - OPEN LEFT
Elmira, NY 14901 BD24-F1-M31-000 FLANGED END




NGO NN~

H]—

)
W@

\

3. —ISO F/A25

®10"B.C.

| @K 8
o HOLES

SEAL PLATE

2] "
32

P
.,

/

PN
L
s

—
_\

1.88

|
(L

417 REF. —+
SHAFT & KEYWAY DIM.

FLOW MAY BE IN EITHER DIRECTION

VALVE SHAFT WILL MEET OR EXCEED AWWA C504 STANDARDS
REFERENCE AWWA C504 FOR FLANGES AND DRILLING (ANSI 125)
16 BOLTS ON EACH FLANGE (16 THRU & 4 TAPPED)

11/41/8"DIA. OF BOLTS

RATED AND TESTED FOR 150psi WORKING PRESSURE

THIS DWG. AND ALL INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCED WITHOUT

WRITTEN CONSENT. DESIGN AND INVENTION RIGHTS RESERVED.

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.
Elmira, NY 14901

DRAWN:  CTJ 24" - STYLE 4500 - CL150 BFV

DATE: 6/4/2019 w/ F/A25 MSS/ISO CONNECTION

bwe. No. FLANGED ENDS
BD24-F1-B01-000




/|
SEAT DETAIL
ITEM NO. DESCRIPTION MATERIAL
/ OPERATOR SHAFT 304 STAINLESS STEEL, ASTM A-276
2 V-RING PACKING SET EPDM, BUNA-N
3 BFV BODY DUCTILE IRON ASTM A-536
4 UPPER JOURNAL BEARING FIBER & REINFORCED TEFLON
5 TORQUE PLUG 304 STAINLESS STEEL, ASTM A-276
é VANE SEAT RING EPT W/ STAINLESS STEEL INSERT
/ HEX HEAD CAP SCREW 18-8 STAINLESS STEEL W/ NYLOC PATCH
8 THRUST SHAFT 304 STAINLESS STEEL, ASTM A-276
9 LOWER JOURNAL BEARING FIBER & REINFORCED TEFLON
10 THRUST BEARING BRONZE ALLOY
11 THRUST BEARING CAP SCREW 18-8 STAINLESS STEEL
12 BODY END PLUG STEEL
13 BODY END PLUG O-RING EPDM
14 BODY SEAT RING 316 STAINLESS STEEL
15 BODY SEAT O-RING BUNA-N

. INFORMATION IS OUR PROPERTY AND SHALL NOT BE USED, COPIED, OR REPRODUCI
WRITTEN CONSENT. . DESIGN AND INVENTION RIGHTS RESERVED. .

ED WITHOUT

P

KENNEDY VALVE
Division of McWane, Inc.
1021 East Water St.

DRAWN: ZF
DATE: 8/13/2018

DWG.

"> B24FBB11

Elmira, NY 14901

24" AWWA C504 - STYLE 4500 - CL150
BFV w/ F/A25 MSS/ISO CONNECTION
SUB-ASSEMBLY - MATERIAL LIST
FLANGED ENDS




	3" FLG CL150 BFV ISO
	4" FLG CL150 BFV ISO
	6" FLG CL150 BFV ISO
	8" FLG CL150 BFV ISO
	10" FLG CL150 BFV ISO
	12" FLG CL150 BFV ISO
	14" FLG CL150 BFV ISO
	16" FLG CL150 BFV ISO
	18" FLG CL150 BFV ISO
	20" FLG CL150 BFV ISO
	24" FLG CL150 BFV ISO



